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ACCOUNTANCY
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Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 (a-h) carries 1 mark each : 1x8= 8
Q. Nos. 2 to 6 carry 2 marks each : 2x5= 10
Q. Nos. 7 to 11 carry 3 marks each : 3x5= 15
Q. Nos. 12 t0 18 carry 5 marks each : 5x7 = 35
Q. Nos. 19 to 22 carry 8 marks each : 8x4 = 32

Total = 100
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1. Fill in the blanks/Choose the correct answer/Write True
or False of the following : 1x8=8

oo TS QAT SRR 2 91 /0% Ve /o1 o Ty fora

(@) Accounting records only the transactions of
nature. '

RoPRRCT @ (erePTiReR PR e |

(b) The convention of conservation results in under-
statement of

HFFNE ALY FoO

N o ST |

(c) The rule for Personal Account is____ thereceiver and

the giver.

Wﬂ_&mﬂaspwﬁ’iﬁmmm——wﬂﬁmm
W I AN

(d) Trial Balance is .an account/a statement/an
information. -

78 ooy o Rt/ 3 RIS/ 9% =T |

(e) The Sale' value of an asset after it bé(:o‘mes lésc_a_lgs's is
called
T SR @ i e R T ?lﬁf @RI
A1 . o

() A bill of exchange is a conditional document. .. .

@4 REATEera 2’5 SO e |
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(9) Outstanding rent is a revenue/liability.
HTE O[Ol iRy e/ ¢ T |

(h) The full form of CPU is
CPUT o 9151 2'A

2. Define Accounting. | 2
&1l (IR it o |

3. What is entity assumption? 2
e g & 2

4. What is the principle of double- entry system of book-
keeping? 2

o1t 791 R-aRR s A B2

S. What is Suspense Account? 2

Fiore ot 5 2

6. What is the function of Provision for Bad and Doubtful
Debts? 2

SRR P TGS A AR Sy TR TN 52

7. Write three distinctions between Bill of Exchange and
Promissory Note. 3

R T efoerfoera e e R 19 forer |

8. What is meant by adjustment entry in final accounts? Give
two examples of adjustment entry. 3

W&ﬂ%ﬁ\mﬁﬁ@iﬁmﬁ?{@m?ﬂmﬁ%@a@%ﬂﬁq
fram
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9. Write three limitations of incomplete records. 3
e RiPrETeR o A= fa
Or / &

Mention three qualitative characteristics of accounting
information.

RpIeeaeR o RRb gaere (3B SrEy 11 |

10. Explain money measurement concept. 3

TR WIS 2AFMF QIREACOT Y 0 |

11. Explain three benefits of computerized accounting system. 3

FRoChrage Rowrraem fofr R fora |
 Or/ &

Write three uses of database management system.

Database “ARoeHT “R FR6! 7929 i |

12. What is accounting standard? Mention its three
importances. : 5

R TH Iore & o 2 TR oo ercaraser Seay 4 |

13. Show the distinction between Journal and Ledger. 5

AW SIF AT &S AL (T4l |
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Or / &

From the following particulars, prepare Sales Book of
M/s Sharma Enterprise, deals in furniture :

GO R BRERER FOR 2o T il e R R 1)) 2Rge 1 -
March 6 Sold on credit to Bimal Stores
R GO A @ oA
S almirahs @ ¥ 650
581 St 2fSe1 650 51 W@
S tools @ ¥ 50
53 Be1 =ifew 50 5 v
Less 5% Trade Discount
W 5% JPNRF AT
» 12  Sold to Bora Furniture House
3’91 FIfRER QoS (1B 1’
100 chairs @ ¥ 75
1003 591 75 51 7o
40 tables @ ¥ 60
4034 (7% 60 B 9o
Less Trade Discount 10%
W JPIRS G 10%

» 18 Sold on credit two old typewriters to Madan
and Co. @ ¥ 800

T G (e IS P [ BiReRIERER 800 T
TS (B XA
» 28 Sold to Satyabrata Baishya in cash
OIS (F 5% GO (I A’H
1 sofa set @ ¥ 750
9Bl (BIFICEs 750 B3re
1 dining set @ ¥ 900
<51 TR (BB 900 Hare
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14. On 1st April, 2003, A drew a three months’ bill for
¥ 10,000 on B, who accepted the same and returned it to
A. On 4th May, 2003, A discounted the bill with his
banker @ 6% p.a. On due date, the bill was dishonoured
by B and bank incurred noting charge of ¥15. Pass
necessary Journal Entries in the books of A. 5

2003 5 1 «fer® A; BY €qs PR T @ 10,000 53R @3

R T1ce | BE Rerve D9 e IR A ¥7 $E 1 2003 579
4 o5 OIRTY A o3 2R 6% Rersa A1Gre Sew | (A ORYs B R

TSN TR | @ACF 15 591 ARpe I fir @9 W) RoweRs A7 39
WP TeAw 2ififE iRm0

Or / 7%

What is transaction processing system? Discuss.

RO ARG e e 19 & 2 e 91 |

15. Show the distinctions between Book-keeping and
Accountancy. S

Rolos S Rl Tee {91 21y for

Or / M3

What do you mean by Generally Accepted Accounting
Principles? Explain ‘Recognise all losses anticipate no gain’.

MYRTSRE 2ol Boel @R NS IPwea & o2 TRHREE@R E=s=
@S A1, TSI ST FRRAT” I 34 |
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16. From the following incomplete records of Mr. Bhuban, a
trader, ascertain the profit or loss of his business for the
year ended on 31.03.2014 ; 5

Mr. Bhuban, @& 10N FEPRS oo Rifres o
31.03.2014 ©IR¥® SBARIANT I2I] FATS-(FIFoR Sfepea .

On 31st March, 2014, his position was as follows :

31 W, 2014 wiRRYe (Sryes S wore far €39% ¢

¥ (6=
Plant and Machinery 50,000
Furniture and Fixtures 22,000
IR HE TS
Bills Receivable : 7,900
a1y e
Sundry Debtors 27,500
Rfen cmmiR
Sundry Creditors 14,700
R efeame |
Closing Stock 32,000
AR TGS 1
Cash in Hand 1,200
R[OS ol Tl
Cash at Bank | 6,700
QLTS oM Tl ‘
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During the year, Mr. Bhuban introduced ¥ 12,000 as
additional capital and withdrawn € 9,700 for personal use.
His capital as on 1st April, 2013 was ¢ 99,750.

T290R f¥ess Mr. Bhuband 12,000 51 SRS T4 I AP
Ifeore I A 9,700 T =l e | 1 «fgE, 2013 wiffye
(©67 e e 99,750 Bl 1

Or / 7131

Explain the principles of determining Capital expenditure
and Revenue expenditure.

TAGGIOR <6 IF Bere 435 et T TSI SCeol $41

17. Explain the errors not detected by a Trial Balance.
Tge e TR/ 4@ ORI SR Sl 41 |

Or / 341

The following errors were detected during the accounting
year before preparation of Trial Balance. Pass Journal
Entries to rectify them :

R GF ToTe Tg8 Rewe 28 IR e oo il PR &1
I3 | (1% TR w7 FE A0S e ki s 390

(i) Goods purchased from Gunin Kalita on credit ¥ 4,000
was recorded in the purchase book as ¥ 400.

&3 FReR *[l 4,000 TR W INS T TN (FACA FAIR©
400 31 f2pree o a1 = |
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(i) Goods amounting ¥ 5,000 have been sold on credit to
Ram but no entry has been made in the books.

S;OOOWQWWT%@W&%%@MWWW
IR

(iii) An amount of ¥6,000 spent for the erection of
machinery has been debited to Wages Account.

TR EoFE AT @ 6,000 B9 <76 TR B RS
== |

18. State five distinctions between Statement of Affairs and
Balance Sheet. 5

YT o RIS o Tge “[a3 W& <Aoo 1w foran |
Or / 731

Define Ledger. Explain its importance in recording of
business transactions.

IfeTg gl iy | IR @R Toifea T30 TR gy B |

19. Prepare a Bank Reconciliation Statement as on

31.12.2007 from the following particulars : 8
wers il Ree w1 31 Revww, 2007 ORYs 93w @ e R
oqTC 91 :
(i) Bank balance as on 31.12.2007 as per Cashbook was
¥ 27,000.
Jm IR wER 31 Rvga, 2007 ORee @Re TR SR
27,000 51 |
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(i) Cheque paid into bank on 25th December, 2007
¥ 7,500 but not collected by bank before 31.12.2007.

25 531, 2007 7,500 PR (5 RO & frn =w, e
RE 31 f¥vgr, 2007 CocE kAR I AR

(iii) Cheque worth ¥ 9,500 issued prior to 31.12.2007 were
not presented to the bank till 31.12.2007.
31 fmw, 20071 wcs wwE fm 9,500 PR G
31 f¥t593, 2007 *R3 ARCNGE I ([T W QA AR |

(iv) Interest on deposit credited in the Passbook ¥ 250 but
not recorded in the Cashbook.

o5 IF TR € S 1 250 591 (Fios 791 W [y 7w o AR
@R (A AR | B

(v) Bank charges ¥ 300 recorded in the Passbook only.
(I IR I/ 300 T (9t A A6 JFeck ARME e ez

Or / &1

Write in brief on the following : 2x4=8
ICLICRECICR (s R T L i

(a) Source document

e wferst

(b) Single-entry system
- 2ifRfB Roret ~1mfe
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(c) Balancing of original entry
e afifes

(d) Methods of charging depreciation
ST 4 A ES

20. The Machinery Account of a firm showed a balance of
75,000 as on 01.01.2000. A part of the machinery
(whose book value on 01.01.2000 was ¥ 5,000) was sold
for ¥ 3,500 on 01.04.2000.

On 01.09.2000 new machine was purchased with
¥ 24,000. The firm charges depreciation @ 10% p.a. under
reducing balance method and accounts are closed on
31st December each year.

Prepare Machinery A/c in the books of the firm. 8

@I <GB TPIRT AT 01.01.2000 57 TFET Bpiere 75,000
5o wfEE 1 ok @Y @ WM (IW 01.01.2000 SIRYS YN
5,000 531) 01.04.2000 wiR¥® 3,500 53 RF 391 2 |

01.09.2000 ©IR¥S ARBNGI <61 g+ (IR 24,000 5ore e |
AfSUCOIE TR “afoe Ae 10 *e I ST 1 FI A
#f® IgT 31 o B N |

oSSR IS TFTeY Bt B crged |
Or / 71

Who is a holder of a negotiable instrument? Discuss the
rights of a holder of a negotiable instrument.

TEBI Woo1H T (P 2 (96T HRAFIAR SCEADAT I |
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21. Write eight advantages of subdivision of Journal. 8
wIcan Rerema wob! e & |
Or / 73
Prepare a Triple-column Cash Book from the following
information :
ot Rl SYPIyEd o[l @3 FOR-BTTe wom 3R 20 91 :
¥ @)
2014
Oct 1 Cash in hand : 6,000
Cash at bank = . 38,000
QO M &1
» 4 Cash sales | . 25,000
5w R
» 7 Deposited into bank 15,000
ERETAIFMLHA - ‘
7 9 Received cheque from Mr. Barua
which is deposited into bank on *
the same day - 8,000

Mr. Baruad “@l IR (53 Qraliag q5e &l

/138



(13 )

¥ )
2014
Oct 10 Rent paid by cheque 3,000
e orel fra =°5
» 18 Paid by cheque to Mr. K ¥6,700 in
full settlement of his debt of ¥ 7,000 7,000
6,700 5F1¥ 53 ft Mr. K9 7,000 3311 oo
T 39 2A
» 23 Withdrawn from bank for office use 3,000
(AFT o[ SRFSY IR IR T I A
» 25 Withdrawn from bank for personal use 2,000
 GRIF O oIS IR AT I 70 XA
» 30 Salaries paid 6,000

g W A

22. Following is the Trial Balance of Rahul; a businessman, as
on 31st December, 2004. You are required to prepare :

I NS amw@a 2004 @ 31 et 9% Remerg wer fim
xR o
() Trading Account. . -

F-Rew Bor age 391 |
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(i) Profit and Loss Account for the year ended on
31.03.2004 and a Balance Sheet as on that date : 8

2004 59 31 W “-CEOH i wF o] wiRve g3m Tge

Iq 289 ¥4I
Debit (c5R5) ¥ (5) Credit (cFfS5) ¥ {5=1)

Building (S4) 1,60,000 Sundry Creditors
Opening Stock (JRSA ¥g@ %) 64,000 (Rfew *neamR) 60,000
Furniture (SI53R) 50,000 Bills Payable (27w Re) 25,000
Sundry Debtors (Rfés ¢=mR) 80,000 Return outward (&% (F4<) 3,000
Plant and Machinery Provision for Doubtful Debts
(@S A Foree) 1,50,000 (e 4 <ff%) 2,500
Purchase (&%) 2,80,000 Capital A/c (F=14=) 3,84,400
Bills Receivable (21 ) 45,000 Sales (k&) 4,80,000
Carriage inward
(FTEfTo *fRZ) 2,400
Carriage outward
(Rerefi «fRaze) 2,100
Discount allowed (J181 &%) 1,400
Bad Debts (SFfaRam 49) 1,900
Return inward (R&w w3%) 3,600
Salaries (7)) 48,000
Wages (F5]) 46,000
Cash at Bank (&Fe Fmem) 20,500

Total () 9,54,900 Total (§5)  9,54,900

Adjustments :
SREIETR

(i) Closing Stock—¥? 75,000
AR TgS #1—75,000 5l

(i) Outstanding Salaries—? 6,000 and Outstanding
Wages— 5,000

HATE 7IY—6,000 51 AF FWAws [GR—5,000 F3
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(iti) Provision for Bad Debt is to be maintained @ 5% on
Sundry Debtors

(FATRE SRS 5% T S@RAN 999 T i AR =1es
(iv) Depreciation is to be provided as follows :

wore il oo o 9 IR #ACS

On Building @ 2%%

ST ¢ g0 @ 2%

On Plant and Machinery @ 15%

TS F ITER €[S @ 15%

On Furniture @ 20%

AR 8F° @ 20%

khkk
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